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BEANRE SFN64E B HHR B G R) 2B - 10m)X B)TE

£ kg g - KTk Bifg H = B ® B wmE
BEEISE 101, 699, 638
EE - FE-UES 101, 699, 638
AAEI [HATITH] 101, 699, 638
Vo) — hEEBET 101, 699, 638
TiHMET 4,331,520
1 BEER 423.00 10, 240 4,331,520
m2
Bi5zT 2,193, 000
2 BIHHE - BE 40.00 54, 825 2,193, 000
m
QYO )—FEET 95,175,118
3 HEWITUONA—T 1,407.00 7,629 10, 734, 003
X
4 MitEEMHE 1.00 17,751,723 17,751,723
=
b Mt ERE 65. 00 137,504 8,937, 760
e
6 SkAMNTIAESIERE 3,935.00 460 1,810, 100
kg
T FRGhN\—# & 1.00 44,237, 600 44,237, 600
=
8 FRGHh/N\—ZKE 267.00 21, 500 7,342, 500
®
9 KRBV U—FEA 67.00 65, 096 4,361, 432
m 3
HEBERERE FEL) 7,086, 398




BERRE

FH6FEEEERBGERMEFE-IIMER)ITE

% [ Bg - KT B £ fifi * % ]
HBERRE 7,086, 398
] 6, 966, 398
TEXE 6, 966, 398
10 R&E B 1.00 6, 966, 398 6, 966, 398
=
RiTEEE 120, 000
Bl EE 120, 000
1 RifEEE 1.00 120, 000 120, 000




wiEk FH6FEEEERBGERMEFE-IIMER)ITE

% g & - BARTE Bifg B 2 B ® & wmzE
EEIEH 101, 699, 638
MEIRR 14,256,221 + 28,513,545 42,769, 766
HBEREE GD 7,086,398 + 6,529,116 + 640, 707 14, 256, 221
HBEREE (BE) 7,086, 398
HBRERE (%) 101,699, 638 x 6.42% ((4.79% x1.00 +1.50%) x 1.02) 6,529,116
BISBERER 101,699, 638 x 0. 63% 640, 707
RISEER 115,955,859 x 24.59% ((22.56% +1.31%) x 1.03) 28,513,545
TH/R1 101,699, 638 + 42, 769, 766 144, 469, 404
—REEEZS 144,469,404 x 16.30% (16.30% x 1.00) — 5,703 23,542,809
LHRILE 144, 469, 404 x 0. 04% 57,787
T H{fitE 144,469,404 + 23,542,809 + 57,787 168,070, 000
HBEREHELE 168,070,000 x 10.00% 16, 807, 000
FRIZR 168,070,000 + 16, 807, 000 184, 877, 000




Rifiz -/ \v7r—o

BH6F EEEREGHBE)FE10mER)ITE

51
&F : BREER 100m2%Y
2 L7 g - BIRTE By = B O{f 4 ) W= " =
mEHEL
m2 100. 00 7, 696. 00 769, 600

JL—of b3 vY 4tFE 2.9t®

B 4.00 41,739.00 166,956 5. 80H / 8H
LEEXE

A 4.00 20, 590. 00 82, 360
AN 2E0%

% 0.50 1,018, 916. 00 5,094
& b {EZ8EA : 100. 00m 2 10, 240. 00 1,024,010
&5 :2
&¥ : BIBRE - BE 19mZH Y

2 L7 g - BIRTE By = B O{f 4 ) W= " =

JL—of b3 vY 4tFE 2.9t®

B 9.00 41,739.00 375,6515.80H / 8H
B AR R IH R (E LK) JL—riRE

m2 209. 00 3,162.00 660, 858

AN 2H0%

% 0.50 1,036, 509. 00 5,182
& b 1EZ£HEA : 19.00m 54, 825. 00 1,041, 691
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BH6F EEEREGHBE)FE10mER)ITE

&5 :3
& HEBITON—TI 2K4Y
% o g - BIRTE BT H = B ff ® " =
KeHIFLESE YS-4R)-tnyv-
= 1.00 4,000. 00 4,000
TR (B 5 X xR EY) 3.5~3. Tm3/min
B 1.00 6, 043. 00 6, 043
BKHEER
A 0.24 42, 740. 00 10, 257
KL
A 1.20 42, 740. 00 51,288
BKERE
A 1.20 27,980. 00 33, 576
BKERE
A 1.20 28, 810. 00 34,572
LEEXE
A 1.00 20, 590. 00 20, 590
AN FHEEDY
% 5.00 150, 283. 00 7,514
& b YE¥HEH : 22. 00K 7,629. 00 167, 840
&5 4
&% fTEEMHE 1KY
% £ g - BIRTE BT H = B ff ® " =
(Type-A) FRGHIN -H{+£ B
= 9.00 191, 000. 00 1,719, 000
(Type-B) FRGHN - {+£& B
= 38.00 252, 000. 00 9, 576, 000
(Type-C) FRGHN - {+£ B
= 16. 00 321, 000. 00 5, 136, 000
(Type-D) FRGHN -HR{+£ B
= 2.00 246, 000. 00 492, 000
7 oh—RIL b+ M16 x 165 (SS400)
#2 1,407.00 231.00 325,017
WHY-trUh-F%REN 7 544%15 x £150mm
ZN 1,407.00 358. 00 503, 706
& it 1EZRER : 1.00 17,751, 723. 00 17,751,723




Rifiz -/ \v7r—o

BH6F EEEREGHBE)FE10mER)ITE

H#E:5
&% fYE8E%E &Y (%)
2 o g - BIRTE By = B ff ® W= " =
BKHEER
A 0.24 42, 740. 00 10, 257
BKL
A 2. 40 42,740. 00 102, 576
BKERE
A 1.20 27, 980. 00 33, 576
BKERE
A 1.20 28, 810. 00 34,572
LEEXE
A 2.00 20, 590. 00 41,180
L=t b399 4tFE 2.9t/
B 1.00 41, 739. 00 41,739 5.80H / 8H
AN FHEEDY
% 5.00 222,161.00 11,108
& b 1EZRER : 2. 00K 137, 504. 00 275,008
HS:6
L SEIMITHENERE Tk gHy (1000k g)
2 7 g - BIRTE By = B ff ® 5 W= " =
A (2R) SD295 D13
k g 030. 00 99. 00 101, 970
AT WI- - L7 nyi e [FROHA] I-vikE
k g 000. 00 84.00 84, 000
BKHEER
A 0.24 42, 740. 00 10, 257
BKL
A 2. 40 42, 740. 00 102, 576
BKERE
A 1.20 27,980. 00 33, 576
BKERE
A 1.20 28, 810. 00 34,572
LEEXE
A 2.00 20, 590. 00 41,180
JL—oFtb599 4tFE 2.9t/
B 1.00 41, 739. 00 41,739 5.80H / 8H
A FEEDY
% 5.00 222,161.00 11,108
= B EZEREH :1,000.00k g 460. 00 460, 978




Rifiz -/ \v7r—o

BH6F EEEREGHBE)FE10mER)ITE

&5 :1
2% FRGh/NN—#$E 1KLY
2 L7 g - BIRTE By H = B 4 ) " =

(Type-A) FRGAH/N—D W965+W160 x H1, 480

® 18.00 159, 000. 00 2,862,000
(Type-A) FRGH/N\—2 W570 x H1, 480

® 9.00 85, 300. 00 767, 700
(Type-B) FRGH/N\—D) W1, 005+W160 x H1, 600

® 76.00 155, 000. 00 11, 780, 000
(Type-B) FRGH/N\—2 W1, 005 x H1, 600

® 38.00 144, 000. 00 5,472,000
(Type-B) FRGAH/N\—B W985 x H1, 600

® 38.00 149, 000. 00 5,662, 000
(Type-C) FRGH/N—D W1, 005+W160 x H1, 600

® 32.00 155, 000. 00 4,960, 000
(Type-C) FRGH/N\—2 W1, 005 x H1, 600

® 32.00 144, 000. 00 4,608, 000
(Type-C) FRGAH/N\—B W980 x H1, 600

® 16. 00 138, 000. 00 2,208, 000
(Type-D) FRGH/N—D W1, 005+W160 x H1, 600

® 4.00 155, 000. 00 620, 000
(Type-D) FRGAH/N\—2 W1, 005 x H1, 600

® 2.00 144, 000. 00 288, 000
(Type-D) FRGAH/N\—B W945 x H1, 600

® 2.00 142, 000. 00 284, 000
FRGH/S—RARIL bk - F v b M16 x 185 (£4Y" & IWH)

#2 1,602. 00 2,950. 00 4,725,900
& it 1E%8EH : 1.00= 44,237, 600. 00 44,237, 600
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BH6F EEEREGHBE)FE10mER)ITE

F5:8
& FRGH/N—FBE 1Y (10%)
2 L7 g - BIRTE By = B O{f ® W= " =
BKHEER
A 0.24 42, 740. 00 10, 257
Bkt
A 2. 40 42,740. 00 102, 576
BKERE
A 1.20 27, 980. 00 33, 576
BKERE
A 1.20 28, 810. 00 34,572
LEEXE
A 2.00 20, 590. 00 41,180
gL—ofF k59 AtFE 2.9tR@
B 1.00 41, 739. 00 41,739 5.80H / 8H
AN FHEEDY
% 5.00 222,161.00 11,108
& b YEZHEH ¢ 10. 004 27, 500. 00 275,008
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BH6F EEEREGHBE)FE10mER)ITE

H#5:9
B KBRS EEED V) —FEA Tm3&%Y (10m3)
2 L7 g - BIRTE By = B O{f 4 ) W= " =
KEFRHBEHED VY ) — 24-55-20 (Z%F) (W/C=50%)
m3 10. 60 38, 550. 00 408, 630
avHY—rRUTJE J—L3 90~110m3/h
B 1.00 98, 300. 00 98,300/6. 80H / 8H
BKHEER
A 0.12 42, 740. 00 5 128
BKkE
A 0. 60 42, 740. 00 25, 644
BKERE
A 0. 60 27,980. 00 16, 788
BKERE
A 0. 60 28, 810. 00 17, 286
HEE&
A 0.50 28, 390. 00 14,195
R IEXE
A 0.50 24, 540. 00 12,270
LEEXE
A 1.00 20, 590. 00 20, 590
LEEXE
A 1.00 20, 590. 00 20, 590
AN FIEEEWMBEEDY
% 5.00 230, 791. 00 11, 539
& b 1E%8EA : 10.00m 3 65, 096. 00 650, 960
&5 :10
& BREERMRK 1KLY
2 L7 g - BIRTE By = B O{f 4 ) W= " =
ZEERM FRP D 180PS%!
B 69. 00 100, 460. 00 6,931, 740/6.00H / 8H
A 2H0%
% 0.50 6, 931, 740. 00 34, 658
& b 1EZRER : 1.00 6, 966, 398. 00 6, 966, 398




Rifiz -/ \v7r—o

FHEE AR EGRBR) R EC1mER)TE
&5 1
L BT EEE
& 7 L - IRTiE BAf #H = B @ & # = & &
HEREPRAT
I=E 1.00 120, 000. 00 120, 000
& it 1E%8EH : 1.00= 120, 000. 00 120, 000




